
R1 単元テスト 第２学年  連立方程式                   

  組  号 氏名          得点    

 

○次の連立方程式を解きなさい。解は右側の解答欄に記入すること。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

   

   

 

 

 

 

 

 

 

 

 

 

 

 

 

  

7 (𝑥, 𝑦) = (  ， ) 

8 (𝑥, 𝑦) = (  ， ) 

9 (𝑥, 𝑦) = (  ， ) 

10 (𝑥, 𝑦) = (  ， ) 

1 (𝑥, 𝑦) = (  ， ) 

2 (𝑥, 𝑦) = (  ， ) 

3 (𝑥, 𝑦) = (  ， ) 

4 (𝑥, 𝑦) = (  ， ) 

5 (𝑥, 𝑦) = (  ， ) 

6 (𝑥, 𝑦) = (  ， ) 

(1) {
4𝑥 + 𝑦 = 3
2𝑥 + 𝑦 = 1

 (2) {
−3𝑥 + 2𝑦 = 10

3𝑥 + 5𝑦 = 4
 

(3) {
𝑥 + 4𝑦 = 6

3𝑥 − 2𝑦 = 4
 (4) {

7𝑥 − 3𝑦 = 5      
2𝑥 − 5𝑦 = −11

 

(5) {
𝑦 = 2𝑥 + 3
𝑥 + 𝑦 = 6

 (6) {
4𝑥 + 5𝑦 = −22
5𝑦 = 2𝑥 − 4     

 

(7) {
6𝑥 + 5𝑦 = 2𝑥 − 1      

3(𝑥 − 2𝑦) + 7𝑦 = −9
 (8) {

0.5𝑥 − 0.8𝑦 = −0.1
7𝑥 + 3𝑦 = 6𝑦 + 15

 

(9) {

0.4𝑥 + 0.5𝑦 = 0.6

−
4

3
𝑥 +

5

2
𝑦 =

19

3

 (10) 
方程式 2𝑥 − 5𝑦 = −7𝑥 + 6𝑦 + 12 = −5 

を解きなさい。 



R1 単元テスト 第２学年  連立方程式                   

          解    答           

 

○次の連立方程式を解きなさい。解は右側の解答欄に記入すること。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

   

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7 (𝑥, 𝑦) = (−4 ，3 ) 

8 (𝑥, 𝑦) = ( 3 ，2 ) 

9 (𝑥, 𝑦) = (−1 ，2 ) 

10 (𝑥, 𝑦) = ( 5 ，3 ) 

1 (𝑥, 𝑦) = ( 1 ，− 1) 

2 (𝑥, 𝑦) = (−2 ，2 ) 

3 (𝑥, 𝑦) = ( 2 ，1 ) 

4 (𝑥, 𝑦) = ( 2 ，3 ) 

5 (𝑥, 𝑦) = ( 1 ，5 ) 

6 (𝑥, 𝑦) = (−3 ， − 2) 

(1) {
4𝑥 + 𝑦 = 3
2𝑥 + 𝑦 = 1

 (2) {
−3𝑥 + 2𝑦 = 10

3𝑥 + 5𝑦 = 4
 

(3) {
𝑥 + 4𝑦 = 6

3𝑥 − 2𝑦 = 4
 (4) {

7𝑥 − 3𝑦 = 5      
2𝑥 − 5𝑦 = −11

 

(5) {
𝑦 = 2𝑥 + 3
𝑥 + 𝑦 = 6

 (6) {
4𝑥 + 5𝑦 = −22
5𝑦 = 2𝑥 − 4     

 

(7) {
6𝑥 + 5𝑦 = 2𝑥 − 1      

3(𝑥 − 2𝑦) + 7𝑦 = −9
 (8) {

0.5𝑥 − 0.8𝑦 = −0.1
7𝑥 + 3𝑦 = 6𝑦 + 15

 

(9) {

0.4𝑥 + 0.5𝑦 = 0.6

−
4

3
𝑥 +

5

2
𝑦 =

19

3

 (10) 
方程式 2𝑥 − 5𝑦 = −7𝑥 + 6𝑦 + 12 = −5 

を解きなさい。 


